BRHBHRFOMIERERR (KIE) 172

REHR - FR28ESB1H (B) ~FR28FE8831H (7K) (BAfT : A 9blb/kg)
=1 — = o BREH X RERRE| . EHERRE
=S A3y mE FREY (8H) L1134 (£594134) ®I9h137 (£594137)

(IEES ATV X (BT HEETFE [ 258K | A% 10.9 | A%E 9.8
IEEES ARF+ B LmEERI FMEESE| 18H(K)| A& 9.8 | A1&H 8.6
e EGES HRF+ BLLh = HET IHCN) | A &H 11.2 | A%E 9.9
EES HRF+ BLLh = HET IHCN) | A &H 11.9 | ~1&H 10.5
5 ¥ HhihF+ () |[BLLHXH 17THOK)| A& 6.1 9.4 7.4
[EES Fa10l) BLmEEsl FMEFEE| SH(R)| A& 10.1 | A~&H 8.8
[ EES Fa1oU EBLL AR 6H(L)] AigE 10.2 | A%E 12.8
8 |FX Fa1oU ELTHENE%S K [ 17T80K)| ~M&E 11.9 | A%E 10.6
CIEES Fa1oU ESLLh = FHET 10H(K)| A i&H 10.6 | ~&HE 9.5
IEES Fa1oU BB\ LITh =FEHE] 18H(KR)| A i&H 12.1 | ~1&E 10.7
(EES Jv A1 E EIGE 5H(®)| A~ &d 12.9 | A%E 11.3
(REES v A1 E EBILUHEERTE)Il [ 158H(B)] A™MEH 10.2 | ~1&H 8.8
(EEES Jv A1 E 8L = HET 1THOK) [ A i&HE 10.5 | ~&H 9.3
(EES 21 A EBLLI T AHIET 15H(B)] A &E 9.7 | A %&H 8.5
(FEES 21 A BB LLImh A~ HT 25H(R) [ A& 12.0 | A%E 10.7
AEES 21 A LT =FEMEEIIH | 158(B)] ~&E 11.8 | A%E 10.6
EES ERt=V HA A =&FH] 26H (&) ~%HE 12.2 | A%E 11.0
18 |82 AN HRF L LI B ERT )| 158(8)| A% 10.1 | &H 8.9
19 [BE FUEODY |ERLUMHEETGEI | 4HOK)|[ AR 8.7 | A& 7.7
20 [ <k EBLUHEENZFE | 8H(A)| AMEH 11.3 | A%E 10.3
IR EES F~Y K EBILmEERT K [ 158(8)] AMEH 9.1 | A& 8.1
YR EES FY bk () LU IXH 18H(AR)| A1&H 5.8 | A~M&EH 7.0
RN EES + R BLmavel] FMEEE| SH(®)| AMEE 12.0 | ~&H 10.5
EES F X B =f=HA]/IIH [ 158 (B)] &L 11.8 | F%E 10.3
25 |k Gtk BEA®) [FHEK BLUHENTEE 9IH(N)| A& 4.5 | ~MEH 4.0
26 [k GrEk. mEk®m) |HEK BLmPAIERAB|] sBCR| NEE 4.9 | ~EH 4.3
YENERER R 1 EERE: EIERN=E=] 10H0K)[ A i&HE 11.5 | A%E 10.1
28 [BNiE 17F BB LT Zh B H] 3HOK)] A igHE 11.6 | A%E 10.2
29 [BNiE PR ELUF=FEETLO [ 158(B)] ~&E 11.9 | F%E 10.6
30 [BNiE NPEW A ER/NEFH] 26H(K) [ AR 11.5 | A%E 12.9
ETEES 1FID BB A SFET 4tH(KR)| A~ &h 9.7 | A&H 8.6
EVEES ONTRD BLHEERTE/IT  [30BCN] REHE 10.4 | ~&HE 9.1
33 [E=E JTIL—RU— BRI AFH] IHCN) | A& 10.5 | ~&HE 9.2
3 [RE £E LR P 3THOK)[ A &HE 1.1 | ~&E 10.0
35 [Zoft bR EBLLITH <P HT 23H (N) 26.1 6.2 159.1 6.1
36 |[Zoft B EBLLITH <P HT 22H(B) 26.9 6.1 154.0 5.6
37 [Zoft bR EBLLITH <P BT 22H(B) 10.8 4.2 61.6 4.7
38 [Zofh bR BB LU 4 ma BT SR EF 2HON)] A&l 11.6 16.6 5.5
39 [Zofb bR BB LU 4 ma BT P EF 3HOK)] AigHE 11.2 8.5 5.2
40 [Zofb bR BB LU 4 ma BT P EF 3HOK)] A igE 10.7 14.2 8.8
41 [Zofb bR BB LU 4 ma BT SR EF 3HOK)] AigHE 9.5 14.0 4.5
42 [Znfh bR BB LU 4 ma BT SR EF 8H(B)| A& 10.3 14.5 11.0
43 [Zofh B BB LU 4 ma BT P EF 8H(B)| A& 12.6 | ~&E 11.2
Ly [Z 0 bR LT HREITREE [ 128(@)] ~2E 10.1 19.0 4.7
45 [Zofb BR BT HREITRE 16BN RNE@HE 14.2 23.0 6.4
46 [Z0fb ER LT HREIRE [18BCR)| ~@E 10.3 11.5 8.8
471 [Z0fe BER LT HREIRE [18BCR)| ~@E 9.5 5.7 4.6
48 [Zofb ER ERLLTmamThEy [ 23H(N) 13.2 6.8 75.2 4.7
49 [Zofb ER BRLLTmamThEy [ 23H(N) 9.6 6.2 65.7 5.2
50 [Zoft BER BILUTBmEDER [ 17THOK)] ™MEHE 7.6 20.3 5.3
51 [Zofe ER BILUTBmEDER [ 17THOK)] MR 8.2 15.5 3.7
52 |[Zoft ER BILUTiBmBDER [ 26B0K)] NMEH 12.0 12.5 5.6
53 [Zoft ER BILUTBmBDER [ 26B0K)] AMEH 12.0 | ~&E 8.9
5, |[Zofe ER BILUTBmBDER [ 268 0K)] MR 13.4 16.7 6.1
55 [Zofe ER LT HEER 8H(H) 7.4 4.1 41.9 4.1
56 |Z0ft ER BLUTHEIER [17TH0K] ~EE 5.6 32.0 4.7
57 [Zofe bR LT AmiER | 18BHOK)| &L 5.8 8.5 4.3
58 [Zoft BER ERILT=FEHEETILO [ 105 (k) 39.5 8.1 248.0 8.5
59 [Zoft AEY BUmAE /e [158(B)] AaE 6.7 34.0 5.1
60 [Z0ft AEY BRI 4 ra B] SR EF 8H(H)| At&H 12.1 26.7 11.5
61 [Z0fE AEY BT HREIRE 16BN KNEE 9.6 8.0 A
62 |[ZfE AEY LT HEER 1H(B) 10.5 7.1 69.1 5.2
63 [Z0ft AEY LT HEER 1H(A)| A~&H 6.2 25.7 5.2
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REHR : FR8F8RA1H (B) ~Fr28F8H31H (0K) (B = A" Jblk/kg)
=i — o o ®REH | 4 RERAME| . RIERAE
== A73Y mHE PREN M 8F) | B34 (b994134) 94137 (b994137)
64 | ZDfth REA LA R R 2HON)| A& 13.1 29.0 6.0
65 |Zfth REA LA R R IHCN)| &R 11.2 9.9 5.1
66 | Znfth REA ALmsAraET AR | 16H CX) 7.9 6.9 45.6 5.6
67 | ZDfth REA ERLLArET =0 [ 16HCN)| AR 13.1 27.4 6.3
68 [ZDfih RER) BSLLTAmET = [ 17TH(K) 5.7 4.4 29.2 4.7
69 [H27TEMEIEXR [K (30K) BERE 15H(B)| A& 7.7 | A& 6.8
70 [H27TEMEIER [K (30K) BElH 31HOK) | AR 1.7 | &8 10.3
71 [H27TEMRIEXR [K (BXK) BBLLITh AR HT 28 8H(B)| &R 8.4 | A& 7.4
72 [H27TEMFIEXR [K (BXK) AR LI = FHHET 8H(B)| &R 11.9 | & 10.3
73 [HTEMEIER [K (BX) B 30HON) | A& 12.4 | & 11.1
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